INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1:				TITLE OF INFOR	MATION COLLECTIO		OMB NO.			
		ols. H & K = 13c.	, .	Importation of	Hass Avocadoes		0579-XXXX			
(K)Total/(I)Total	(F)Total/(D)Total = (E)Average		., .						DATE PREPA	RED
NOTE: The colu- years, list as "1/6"	ımns will calculate automatically. If Col. E's response is somethin; ' & decimal will display.						September 19, 2016			
IDENTIFICATION OF REPORTING OR RECORD EEPING REQUIREMENT							AL BURDEN		Septem	ber 19, 2016
					REPORTS	,			RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(К)
319-56.76(a) (1)	Operational Workplan (foreign gov't)	None	1	1.00	1.00	80.00	80			0.00
319-56.76(a) (2)	Production Site Registration (business)	None	68	1.00	68.00	0.5000	34			0.00
319-56.76(a) (2)	Production Site Registration (foreign gov't) (same)	None	1	68.00	68.00	0.5000	34			0.00
319-56.76(a) (2)	Packinghouse Registration (business)	None	6	1.00	6.00	0.5000	3			0.00
319-56.76(a) (2)	Packinghouse Registration (foreign gov't) (same)	None	1	6.00	6.00	0.5000	3			0.00
319-56.76(b) (1)	Inspections (business) (same)	None	68	6.00	408.00	1.0000	408			0.00
	SUBTOTAL		75		557.00		562.00	0.00		0.00
	TOTAL OF ALL PAGES		79		2,842.00		9,779.00	1.00		5.00
тот	AL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c				2,843.00		9,784.00			

recordkeeping requ	cordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1:			TITLE OF INFORMATION COLLECTION DOCUMENT Hass Avocadoes from Colombia						ОМВ NO. 0579-XXXX		
(K)Total/(I)Total = NOTE: The colum	(F)Total/(D)Total = (E)Average	(H)Total/(F)Total	= (G)Average			4			DATE PREPARED September 19, 201			
IDENTIFIC/	IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUA	AL BURDEN		Septem	ber 19, 2016		
					REPORTS				RECORDS			
										TOTAL		
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS PER	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	RECORD- KEEPING HOURS		

SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
319-56.76(b) (1)	Inspections (foreign gov't) (same)	None	1	408.00	408.00	1.00	408			0.00
319-56.76(b) (1)	Personnel Training (foreign gov't) (same)	None	1	47.00	47.00	160.00	7,520			0.00
319-56.76(b) (2)	Monitoring (business) (same)	None	6	1.00	6.00	2.00	12			0.00
319-56.76(b) (2)	Monitoring (foreign gov't) (same)	None	1	6.00	6.00	2.00	12			0.00
	Investigation for remedial action (business) (same)	None	1	1.00	1.00	40.00	40			0.00
	Investigation for remedial action (foreign gov't) (same)	None	1	1.00	1.00	40.00	40			0.00
	SUBTOTAL				469.00		8,032.00	0		0.00

USDA-APHIS

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1:				TITLE OF INFOR	MATION COLLECTIO		OMB NO.			
		bls. H & K = $13c$.		Hass Avocado	es from Colombia		0579-XXXX			
(K)Total/(I)Total = (J)Average (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., years, list as "1/6" & decimal will display.						DATE PREPARED September 19, 2016				
IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT	I		ANNU	AL BURDEN					
		•			REPORTS		RECORDS			
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
319-56.76(b) (4)	Recordkeeping (foreign gov't) (same)	None			0.00		0	1	5.000	5.00
319-56.76(d)	Survey Protocol (foreign gov't) (same)	None	1	68.00	68.00	8.0000	544			0.00
319-56.76(d)	Investigation of Survey Protocol (foreign gov't) (same)	None	1	1.00	1.00	8.0000	8			0.00
319-56.76(d)	Investigation of Survey Protocol (business) (same)	None	1	1.00	1.00	8.0000	8			0.00
319-56.76(e)	Carton Markings (business) (same)	None	68	8.00	544.00	0.0160	9			0.00
319-56.76(f) (4)	Shipping Documents (business/importer)	None	4	100.00	400.00	0.5000	200			0.00
	SUBTOTAL				1,014.00		769.00	1		5.00

	: Use this form when a single information collection document in irrements. The totals of the figures in cols. should be entered in i		TITLE OF INFOR	MATION COLLECTIC		OMB NO.				
		bls. H & K = $13c$.		Hass Avocado	es from Colombia		0579-XXXX			
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Ave (K)Total/(I)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/ years, list as "1/6" & decimal will display.						DATE PREPARED September 19, 2016				
IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNU	AL BURDEN					
				REPORTS				RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (COI. I X J)
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(1)	KEEPER (J)	(K)
319-56.76(g)	Post-Harvest Inspection and Investigation (business) (same)	None	1	1.00	1.00	8.00	8			0.00
319-56.76(g)	Post-Harvest InInspection and Ivestigation (foreign gov't) (same)	None	1	1.00	1.00	8.00	8			0.00
319-56.76(h)	Phytosanitary Certificates (foreign gov't) (same)	None	1	400.00	400.00	0.50	200			0.00
319-56.76(h)	Phytosanitary Certificates (business) (same)	None	4	100.00	400.00	0.50	200			0.00
					0.00		0			0.00
					0.00		0.00			0.00
	SUBTOTAL				802.00		416.00	0		0.00